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To show D^1 is not homeo to D^2, note that
no matter what point you remove from D^2,
the resulting shape is path-connected,
but you can remove a point from D^1
so that the resulting shape is not path-connected.


a X This “2” is the Euler characteristic of the
sphere. It turns out that for compact, path-
soddle POns connected, 2-dimensional, orientable
, ~ shapes, the Euler characteristic completely
‘ classifies the shape up to homeomorphism.
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2 For the middle column, the sphere as drawn
actually does not have the indicated number
S o of max/min/saddles; challenge: draw a
. sphere embedding that does have the
, Ky & indicated number of 3 max, 2 min, and 3
. sphees ave. acdually Y\Olvm/\orph\g Yo cubeso | saddles!
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# of faces of a cube
is actually 6 :-)
(think of rolling dice)
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# of faces of a cube 
is actually 6 :-) 
(think of  rolling dice)

Hiro Tanaka
This “2” is the Euler characteristic of the sphere. It turns out that for compact, path-connected, 2-dimensional, orientable shapes, the Euler characteristic completely classifies the shape up to homeomorphism.

Hiro Tanaka
For the middle column, the sphere as drawn actually does not have the indicated number of max/min/saddles; challenge: draw a sphere embedding that does have the indicated number of 3 max, 2 min, and 3 saddles!


